Section 7.3 - The Dot Product of Two Geometric Vectors
	Dot Product of Two Vectors
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             (draw diagram page 371)


Sign of the Dot Product

For the vectors 
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 and 
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  (*** This one is perhaps most important)
· For 
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Example 1 from page 372
Two vectors, 
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 and 
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, are placed tail to tail and have magnitudes of 3 and 5, respectively.  There is an angle of 120º between the vectors.  Calculate 
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Example 2 from page 373

a. Suppose 
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b. Calculate 
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	Generally speaking, for the vector 
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Theorem:  For the vectors 
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(note that there is a slight misprint on p. 373 – missing “dot”)
Proof on page 373-74
	Properties of the Dot Product

Commutative Property:                         
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Distributive Property:                            
[image: image27.wmf](

)

r

p

q

p

r

q

p

×

+

×

=

+

×


Magnitudes Property:                            
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Associative Property with a Scalar k:   
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Example 3 from page 375
Suppose the vectors 
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  are perpendicular, and suppose 
[image: image32.wmf].

2

b

a

=

  Determine the angle (to the nearest degree) between the nonzero vectors 
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 and 
[image: image34.wmf]b

.

Example 4 from page 375
If 
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 then prove that the nonzero vectors 
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 and 
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 are perpendicular.
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